
Spanning Set

Expert Choice employs an algorithm to determine when a spanning set of judgments has been entered for a cluster of

elements, at which point priorities can be derived.  A spanning set of judgments is such that every element can be

"reached" from every other element.  In the example below: 

Relative judgments have been made for:

A to B

A to C

B to D and

D to E

And form a spanning set.

Some spanning sets are obvious -- for example, the top row of judgments would be a spanning set as would the main

diagonal.  

A cluster of n elements would require n-1 elements in a minimum spanning set.

Any judgments beyond the minimum number for a spanning set are called "redundant" because they are not needed to

compute priorities.  They are necessary, however, to improve the accuracy of the priorities, especially in the case of verbal

judgments.

Since the n - 1 judgment in a minimum spanning set contains no "redundancy," the inconsistency ratio will be zero.  This is

a good reminder that a low inconsistency does not imply accurate results.  A relative low inconsistency is necessary but

not sufficient for accurate results.   Making one more judgment than the minimum number in a spanning set will generally
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increase the accuracy of the resulting priorities while also increasing the inconsistency above 0.

See also: Missing judgments
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